Scenario Assumptions: Total Population by Transportation Zone (City)
2048 LUN

Calgary Regional Transportation Model (RTMv2)
www.calgary.ca/forecasting
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Standard Scenario: 2015 CTP MDP Scenario Series (Run ID: 111517)

H BN N I N IS N B § IS
mne 0 m
LS £ (5
ke e
n
j 5 5 e
- . o .. — ]
= s uff
P o e s e
" e o i e o 27
B =
2 G Zan s =y
B D it i)
-

£l
B
kol

i
£

ol
b

e T o

b
a1
i
i

T Y
E5

3
E
4
3
%
28
2
Es
&
&
g
F
E
3
T
§
EE)
kS
kG
B

£
.i§
£
o
§

- T 5
\l [ ]
‘ A= i o o B
. % B =
5 s s
. R E zEf ﬂ & § z
w Ay I aH % % -
% et i .
we [
Y (&
a0 N e

w £
72278 -i ]
et ¢~ 5 2 [ ]
T2 200k Tzaus | P T ~ 2. 2162
ol o L e - ot
= s & T S
4= 20 e Ltz BN i e
=2l porn) P wd | 20 5 m () T W
< b= e e N (4 % (4 E 3
b} = .
b T
r- i® T =
mm | % o - G o s e
Pop: 4161 Pope 2320 T 806. o 0. o 1077 P 2 100} 1902 Tz 15
SR s & = = %
L} e o g i | U o
putod (& i oy R i o
I &5 o
. e
o Ll =i L [ ]
- 25 i s we B s P R R
= &
hT 1 o
F - w LB | q o TS
L] e 12,25
&8 v Al
&2 . [
b 3 e C L]
i e 2
= & )
%72 N = i
B e s 5 it
e e B e
&
o
L] P 2951
S o 7706 Loy i, |} jaars 258
5% ] o i, e - 3]
= i & i3 ol I -
- et e -
Ey (A e o & .
n . n
5
- i =
B % B Py
wE 5 - Zay @ e l
R "° 5 T2 190 r
s i %
12623 RE 0 -
62, L, 11 = Uitz o) P
= Tz 0 Tz} o0 | e
L, il o i T Tz
e Ea = o ot
Oz T2:620 3 1955 T
19 7636 N Poa 2090 4 3 i 710
T2 635 L 4 (i Tz 2 12
o put s Tl & - 3
s L
2ol e wlze & =
it - ey [ e, B 3
i = B K B 22l /
12 45 =
R ot =
L2 Tz e P e
B N T o # ]
e = = w0 2-keod e
w2 T2 640 R . ¢ . y, Popi0 T2 3560
& e 4 248 bl "/ v = B =
g > ot i 0 ¢t et = o e "
b A
Tzsas >
] i,
T2 6 o0 2715 Tz e
& = ek
i 4 ™| =i i o s i L]
20 b (- 2 Cehad
i
= e =
R e " EIEm ¥ O = d
e Tz 517 Pop. Tz
Fop: 3047 \od o Tz 80
L L - C
—_— ‘" .
B
o = S
- Tz
Sns Tz 27
=g
i B
=
o e
-~ = =
. i I
i
L]
e
u e
b 01 o n
¥ =
hdN bk
I..=w £ I
o il
R ¢
L ) %7 L]
=
I &%
e e 2 I
e 1
A
n
B v
< o "R | |
L —
o
s
BE
> 3
s
—_—

el
i
o
&
&

i
8

kel
B
2
%

= £

3
3
=
&

)

i

2

£

=

£

]

88

kel
E
&
1
{f
L '8

LEGEND Ry i X =6 %

E] Density (ppl/sq km) <500 = wr o e
| | 500 <= Density <1,500 =a : )
1,500<= Density <3,000 :
3,000<= Density <4,500
4,500< = Density <6,000
6,000<= Density <7,500
Density > 7,500

#
#
kL
i

]
[
L]
—
L]
il
£
58
E
¥
2
B
2
#
EEl
A N S O EEE D B W B N o Y

| NN

Density Color Scheme calculated using Assumed population
divided by area of the Transportation Zone. This method
varies from job density calculations performed by the

Planning Department. Underlying road network provided for Calgary Regonal Transportation Model: Version 2

reference. Expressways highlighted for clarity. ADVISORY: Prior to application in any study, all model inputs and outputs require interpretation and adjustment.
Land use assumptions are produced by Geodemographics DISCLAIMER: The City of Calgary provides this information in good faith but provides no warranty, nor accepts any

. . . . B liability arising from any incorrect, incomplete or misleading information or its improper use. If you have any
in Land Use Plannmg and PO|ICY, then used as mputs into questions, require clarification or would like more details on this data please contact TranPlanForecast@calgary.ca.

the RTM. For questions or additional details related to Date: 2018-01-10 ~ Databank: 2048 LUN 111517-CTP MDP Scenario Series
: . i Sc: 1: AM Crown (AMCR) Scenario
these assumptions, please contact Geodemographics directly.




